2RENFE

R hER [R6.1.3137E]

B | 8 |8s iT = ¥
|| K |srw|E2E4s 1B EREE (3-458) 0O00000%
2| & |3=E [exnr gERR (G~65) 000000
3| £
4| B
5| B | BE|ALT ®efE (284%) 000000

s |FFEBE(6F 10:15~12:15) .
W)o| 2E=E

6| K|%# |mazgr mn (3-4%) |
7] K R aRm(LmRE 0F ) @ = | [00000
8| K |arr|rs57 H ~||0000007
9| & |ZZ |EEREGB~6F) RLAER 000000

[0 £

1] H ZESH

12| A IR

o | |7 AV MEEBRBRE (S A1REF)

13| K |#%E M (5-66) OO0 Ok

14| K [ |BES 00000

5] K |srg|mRKnEE (65 BRI 13:30~) 000000

6| & |smn SCHEK (RAZES) khLlIMfh 000000

= “lEeRa A

|7 &£

18 B

19| B | &= |ALT 48— S # (owy) 000000

20| K | == |HmEisE(R#ES) IEXEE 000000

21| K |#xs|%Am £EATR 00000

22| K |=m@n 000000

23| & XE#ER

24| £ |orR|FEBEHEER (BEISTER) E R B O000®

25| H FEnERY (RP/NREEE | 18F~)

26| A 2 A 24 A#RIK

27| kK | RE|FRITES |- 2R BEGINE (3-45F) 000000

28| k if; AR 00000

29| K |#rr|EE4 PTAF#ES 0O00000Z

"% KRE|HU9I)




